Homework 1

section 0.1

) #® £00=x3+x>x-(, find ), $¢-1), £(2) ,and f(a)
£ = (P+N2-H=1 = 1+1-1-1 =[0]
D= D3+ D2 D1 = -1+ 1+ -] = [O]

()= (Y- = b g1 = g g = e
F(oD=

M IF #x)=3x+2 and h*0, find -ﬂ3*—h)y#) simplify your answer as much as possible.

£3+m)-£(3) _[3(2+n)+2]-[3(3)+2] _ A43h+22a~2 _ 34 _
h h - h Pag X
Section 0.3

20) ey £00=X° g(x)= \f_x, and hix)=x*-5x* . Calcvlate +he following functions: h(F(+Y)

h(FE) = h(%) = (£°)°- 52+ = [£7-54™+ |

28 Ler RUO=X g(x):if—xl and h(x)= x>-5x* I. Calculate the following functions: 9FLO)

9fLxN = g(x*) = l_X;,,

Section 04

2) Use the quadratic formula to find the zeros of +he function: £x)=3x%+2x-\

Lo ven oy g2 {2 a4, 28402 2410 o224 _ -6 2 [
SAAW-1=0 = X= 23) =T 0 e

I4) Factor the pdynomial: x*10x+16
X*-10X+ 16 =

Section 0.5
26) Compute the number: (21772
@)= (22"8)"= (3@7)*= (3> =[4] *

32) Use the laws of exponents 1o ompute the number: (445)*8
(gt =4 = g - 13 <[



Section 1.1

8) Find On equation of ne Qiven line: Slopeis 2; (1,-2) on line
point-slope form: y-(-2)=2 (X-1) =>[y+2=2(x-D or y=2x-Y/|

56) A Salesperson's weekly pay depends on ihe volome of Sales. |f she sells X units of
goods, her pay 1s y=5X+60 dollars. Give an interpretation of the slope and the y-intercept

of this straight line.
Sne makes 86 per unit sold (slope) %

360 1s her base pay

section 14
2) For the following function g(x), determine whether Lim guo exists. I# 5o, give the
limit: e

y

\ flf?, 3Lx3= e

4) For the following function glx), determine whether ;Um 9uO exists. If S0, give the
-3

limit:
Yy
L 5 2im gUO DNE
5 X=>3
3+ [ ———

(classwork problems qraded: 4,3,4, 8, "ny



